WHEN REQUIRED.

( COPYRIGHT ALL RIGHTS RESERVED DO NOT SCALE. )
RUBBER ELEMENTS ARE TO BE PRE—LOADED
WITH APPROX. 2-3 TURNS OF THE NUT AFTER
TOTAL CONTACT.
USE ANTI-SIEZE PRIOR TO FASTENING. DYERIANG ADJUSTED AT
38x150 OR OTHER
PONTOON 1 PONTOON 2
\ A / / N
L K
\ 38 J SAWN
RN I S ! ] R
BOLT— M20 x180 i i RUBBER—-301 _
FLEXIBLE ELEMENT Z R
M20 NYLOC NUT 7 N
P N 9100
VVH HH— - - S w —— —1— 120
—
A N Z
\ L/
M20 SS WASHER ./ ~ M20 SS WASHER N 7
M20 NYLON 5(B M20 NYLON WASHER N ¥
WASHER 7, WASHER—303 | ~_
BACKING PLATE 1 Y ALUMINIUM 100mm \ \
100x6 FLAT 1 REQD
mcmMmm 301 __ 50 NOM. I __ BACKING PLATE PONTOON FRAME wmez_m_.Mq_.hm
v I I I 100x6 FLAT 152x64x6 CHANNEL
FLEXIBLE w_.mk.uwzm ! ! !
: PONTOON FRAME 2
I I ! 152x64x6 CHANNEL
PONTOON FRAME 1 [l [l I
152x64x6 CHANNEL || I I _
I I I |
I L
I I I |
[l [l [l I STRONGBACK
=== 150x50x3 BOX

NOTE —ALL FASTENERS ARE
CORROSION RESISTANT

STAINLESS STEEL.

—RUBBER ELEMENTS ARE
60 DURO BLACK NEOPRENE

: n [scate| NTs. DRAWING No.
MARINE DOCK SYSTEMS MARINA COUPLING COMTOR m,,\wm“nmm\__mm DRAWN| BUM A4-1877
_ PTY LTD DETAIL HIGH MOUNT ) oo los.07 o6l mev | o P




